
INTERNATIONAL INDIAN SCHOOL , DAMMAM 
U P B S  CLASS III  SUBJECT : MATHEMATICS 

REVISION WORKSHEET FOR SUMMATIVE ASSESSMENT –I                                      
TOPIC : L – 3 ADDITION 

I) Fill in the blanks 

1. ___________________ is putting together two or more numbers to find the sum. 

2. __________________ is the result of an addition problem. 

3. The numbers that are added are called  ___________________ 

4. Numbers can be added in any _______________, the answer remains the same. 

5. When zero is added to any number , the answer is the ________________________ 

6. 7896 + 2466 = 2466 + 0 + _____________ 

7. 1234 + _________ = 1234 

8. Thousand more than 3456 is  ________________ 

9. The sum of the place value and face value of 5 in the number 5206 is ____________ 

10. The sum of the largest 3-digit number  and smallest  4-digit number is ___________ 

11. When we add 1 to the greatest 3 digit number, we get _________________________ 

II) Compare using appropriate sign   (  > , < , =  ) 

1. 254 + 456   _________  456 + 254 

2. Place value of 5 in 2458 _____________  10 + 10 + 10 + 10 

3. 2400 __________ 1200 + 1000 
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4. 999 + 1 ___________ Successor of the largest 3 digit number. 

III) Match the following : 

1. 1000 + 1    a) smallest 4 digit number 

2. 999 + 1    b) successor of 1000 

3. 987 + 654    c) 4567 

4. 4567 + 0    d) 654 + 0 + 987 

IV) Solve  

1. Find the sum of 2789 and its successor . 

 

2. Add 6575 to the place value of 5  

 

3. Add 50 to the sum of ( 200 and 30 ) 

 

4. Find the sum of the place value of two 8’s  in 7885. 

 

Downloaded  from  www.studiestoday.com

Downloaded  from  www.studiestoday.com



V) Find the sum : 

1. 3457 + 2340      2. 1234 + 2142 + 623 

 

3. 2987 + 3708     4.1678 + 3456 + 2703 

 

5. 4590 + 1289 + 998    6. 3452 + 2678 

 

VI) Word problems 

1. There are 765 boys and 690 girls studying in a school . How many students are there   

in all  ? 
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2. Mr Ram spends Rs 4563 and Rs 3657 in the month of May and June respectively.  

Find his total expenses for the two months . 

 

3. A shopkeeper had 1270 pepsi cans. The number of cola cans are 876 more than the pepsi  

cans . Find the total number of cola cans .  
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